
Possible Solutions 

 

The graph shows the number of grocery bags that Chuck and his mother carried in the 

house. 

 

 

 

 

 

 

 

a) Who carried more grocery bags? 

Mom carried 6 grocery bags and Chuck carried 3 grocery bags. Mom carried in 3 

more grocery bags than Chuck carried in. 

 

b) How many bags did Chuck and his mother carry in the house? 

Chuck carried in 3 grocery bags and his mom carried in 6 grocery bags so when I 

count on 3 from 6, I have a total of 9 grocery bags that Chuck and his mom carried 

in. 


